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Calculus Practice: Using Definite Integrals to Calculate Volume 8b

For each problem, find the volume of the solid that results when the region enclosed by the
curves is revolved about the given axis. You may use the provided graph to sketch the curves
and shade the enclosed region.
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Calculus Practice: Using Definite Integrals to Calculate Volume 8b

For each problem, find the volume of the solid that results when the region enclosed by the
curves is revolved about the given axis. You may use the provided graph to sketch the curves
and shade the enclosed region.
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